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Recall: Find the squares of the numbers 1 through 12 (
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Perfect Square Trinomial

Investigate: Expand and Simplify.
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What patterns do you notice?
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To factor perfect square trinomials:
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Example 2 Perfect Square Trinomials
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Verify that each trinomial is a perfect square. Then, factor. =t
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What value of k& would make the following polynomials

perfect square trinomials?
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Create two trinomials that are not perfect square trinomials and therefore are not factorable!
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Review: Identify the type of polynomial. Factor, if possible.
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